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HX 40,031 86,350 41,163 45,187
RIRET1T 6 15 9 6
RIRET2T 27 55 26 29
AIEET3T 180 589 285 304
RIRET4T 397 963 482 481
B 610 1,622 802 820
REH 2,683 6,007 2,796 3211
L&A 4,344 9,485 4,400 5,085
5E 2,644 5,949 2,874 3,075
B AN 1,313 2,854 1,342 1,512
BERT 1,380 1,969 955 1014
BER2T 768 1,389 664 725
BERST 574 1,325 635 690
B 2,722 4,683 2,254 2,429
BEXRE 276 658 322 336
= 2,215 4,995 2,368 2,627
hERE 642 1,433 665 768
e 2,483 5,118 2,468 2,650
25 L ET 2,335 5,077 2422 2,655
B &AL BT 75 153 63 90
HEFILET1T 560 1,198 567 631
HEFILET2T 621 1,304 609 695
HEZFILAT3T 646 1,477 728 749
g 1,902 4,132 1,967 2,165
B & it B Fr ET 686 1,574 764 810
BHEREBET1T 587 1,185 570 615
BHERERET2T 766 1,725 820 905
BHERERETST 778 1,595 720 875
BHERERET4T 516 958 452 506
HEKERETST 848 1,712 817 895
HEERET6T 887 1,923 932 991
BHERERET7T 874 1,837 912 925
HERERETST 69 211 103 108
£t| 5325 11,146 5,326 5,820
HEF R FET 1,995 4,158 2,036 2,122
S|EFET1T 632 1,587 792 795
S|EFET2T 774 1,750 828 922
S|EFET3 T 737 1,386 636 750
g 2,143 4,723 2,256 2,467
ERE1T 576 1,316 629 687
EIRET2T 386 1,031 513 518
EREIST 508 1,326 649 677
EIRETAT 690 1,465 654 811
EIZEIST 534 1,105 570 535
g 2,694 6,243 3,015 3,228
ME A 2,906 6,283 2,991 3,292
J\THET1T 36 38 15 23
J\THET2T 26 60 30 30
J\THEI3T 51 112 50 62
B 113 210 95 115
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